Heod &isv long exercise” near | Fime fo male on ewluation?

Priorthies are: 10, 20,30,40, SO
high <= > lowo
pwaﬁlj F'\'o'\d-ﬂ

o Ca‘CuIA‘HnS PeNon-des ")er ferndion
= Hovo much Po+ew\-3a\ worle can be done In on 1Feraon

H oF dc,velopefs > Aaas in He iferad~om Vcloc‘rl-a

Saj e I‘\avg:
3 devdo(:exs

20 dou teration length
. v:;gcihi J
3% 0% .3 = U puran-das of el iCl

— This mears Hot He sum of
all user sd'vﬂj eshmates mast be 2 H A

planh'm3 a mikshne # csheoleg in ideo) degys

Story # 10 Story 4 4 Story #5
cstimate ¢ 19 cskimate 2 12 cchimate o 13
Pﬁor‘\\'\jz 10 Pﬁoﬁ\-\jz 1°) Pﬂoﬁ\"jz 1)
Story # 2 Story # 9 Story # |l
cstimate & 1S cohimate ¢ VD cshimate ¢ |2
‘31"»0!“0"3'. 1o ‘)ﬁor‘\\’ﬁ: A0 P“"”“*ﬁ‘ *o




Story # | Story # 8 Story # 3
cshimate @ 12 cshimate ¢ 19 cchmate : 14

priorihy: 30 | [priority: 30 | [priorthy: Ho

6 S+073# 2
cstimade © '5

PNON‘-:Y Co ‘)ﬁoﬁ“‘j: 50 Pﬁorc‘wz 0

AQSMM we ove allomed 3 Theradions
(No‘\‘c . 4L %3 = |26 +ohl Personodnﬂs of worlc)

Planni ny 54‘6933
- Shact with h?al\ed' Pr'uot"v‘l':‘ femg Hot can £iF in the
iteration (egtimalk sum £ U2 in this ¢ase)

= T£ Hee is shN room (“12 lool for He next lowest Pr\?or\'.‘hj
1teration 1§

Wsel < Hot ma + Ke unh] He
e foﬁi I"‘j fr peat + 0 PE (>q2>.

£l (== ‘17—) of Na ofer wser sfories wi
j::\'Q(‘oC\“‘\ oM # ' ﬁLC P’T'OV‘QfS
r leo‘ Yy = Y p«son‘—dat)( ?, é,, 12 = 44 fkr&n—daﬂs
]l:e\-erw\-}or\ # 2 I}»\w\‘ 2.
, |
5,9, | = 3% pefeom -doy( W Story # 13
. 2 estnote : H
:E‘\'Cl‘a"ﬂor\ =ﬁ; pr'\oc\\wj’. l—‘o

T813 = 39 ?—erzo‘h-c(acjg



